C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 92+4= 2) 152+4 =
1.
2.
3.
4,
3) 238+7= 4) 553+7 =
5.
6.
7.
8.
5 438+6 = 6) 190+5=
9.
10.
7) 2613 = 8 672+7=
9 480+6= 10) 540+6 =
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 92+4= 2) 152+4 = 3
20 3 30 8 L
4 80 12 4 120 o ) 38
3 34
4. 79
3) 238+7= 4) B553+7= 73
30 4 70 9 >
6. 38
7 210 28 7 490 63
H H 7 87
8. 96
5) 438+6= 6) 190:5= 80
70 3 30 8 S
6 420 18 5 150 40 10 20
7) 2613 = 8 672+7=
80 7 90 6
3 240 21
' 7 630 42
9) 480+6= 10) 540+6 =
70 10 80 10
6 420 60 6 480 60
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